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  Answer Key 

 
 
PART I:    WRITING                         (35 MARKS)  

 

PART II:    READING COMPREHENSION                         (35 MARKS)  
 
A. Choose True (T) or False (F) for the next statements. (5 x 2 = 10 
marks) 

 
    1.F   2.T   3.T  4.F  5.F  

 

B. Complete the following paragraph with ONE word from passage 1.    
(5 x 2 = 10 marks) 

1. outside   2. scientists   3. life    4. boxing     5. pancakes 
 

C. Choose the best alternative according to passage 2.  (3 x 2 = 6 marks) 

  1. C   2. C   3. B 

 

D. Write down three (3) disadvantages of learning a language from 
Youtube videos mentioned in passage 2.                 (3 x 1= 3 marks) 

 Have a harmful effect on our personality/ adopt bad habits 

 Use colloquial and nasty words 

 The language they use is grammatically incorrect 
 

E. Match the words that appear in bold in the passage to their meanings. 
(6 x 1 = 6 marks) 

1.e     2.c      3.f        4.a      5.d      6.b 
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PART III: USE OF ENGLISH                                             (30 MARKS)  

A. Choose the word or phrase that best completes the sentence. (5 x 1= 
5 marks) 

1.A        2.B        3.C        4.A        5.C  

 

B. Complete the second sentence so it has similar meaning to the first 
one, using the word in capitals. Do not change the word given.                                                                                                                  
(5 x 2= 10 marks)  

1. …are being carried out… 

2. …must have been… 

3. …have locked herself out if …  

4. …would rather / ‘d rather not study… 

5. … is less expensive/ isn’t more expensive… 

 

C. Complete the text with the correct form of the words in capitals.                                                                  
(5 x 1= 5 marks) 

1.REALITY       2. SUCCESS     3.DISADVANTAGES     4.PRODUCER/S 

5. PARTICULARLY 

 

 

D. Fill in the gaps with an appropriate word from the boxes.                         
(5 x 1= 5 marks) 

1. ceremony      2.identical     3.unbearable      4.transparent      5.split 

 

 

E.  Match 1-5 with the responses a-e.                                  (5 x 1= 5 marks) 

1.d            2.a           3.b        4.e       5.c  

 


